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Дано:
P1=1kH

M1=28kH

q=1kH/m


RA RB RC 

RD RE -?

(1) ΣFkx=XD1-P1*Sin45o=0
(2) ΣFky=RA+YD1-P1*Cos45o=0

(3) ΣMD(Fk)=-RA*4+P1*2*Sin45o=0

(1)=>XD1=P1*Sin45o≈5.66(kH)

(3)=>RA=(2P1*Sin45o)/4≈2.83(kH)

(2)=>YD1=P1*Cos45o-RA≈2.83(kH)


2) (4) ΣFkx=XD2=0
(5) ΣFky=YD2+RE-Q=0

(6) ΣMD(Fk)=-Q*1+RE*2=0

Q=q*2=2(kH)

(4)=>XD2=0(kH)

(6)=>RE=Q/2=1(kH)

(5)=>YD2=Q-RE=1(kH)


3)


(7) ΣFkx=XD3+RC=0
(8) ΣFky=RBYD3=0

(9) ΣMB(Fk)=MB+M1+YD3*2-XD3*2=0








(10)
  XD1+XD2+XD3=0








(11)
  YD1+YD2+YD3=0

(10)=>XD3= -XD1-XD2= -5.66(kH)

(11)=>YD3= -YD1-YD2= -3.83(kH)
(7)=>RC= - XD3=5.66(kH)

(8)=>RB= - YD3=3.83(kH)

(9)=>MB= -M1-2*YD3+2*XD3= -31.66(kHm)

Проверка:

ΣFKX= -P1*Sin45O+RC= -5.66+5.66=0

ΣFKY=RA-P1*Cos45O+RE-Q+RB=2.83-8*Cos45O+1-2+3.83=0

ΣMD(FK)= -RA*4+P1*2* Sin45O-Q*1+RE*2+M1+MB-RB*2+RC*2= - 4*2.83+16* Sin45O-2+2*1+28-31.66-2*3.83+2*5.66=0
Ответ:

	MB
	RA
	RB
	RC
	XD1
	XD2
	XD3
	YD1
	YD2
	YD3
	RE

	-
	+
	+
	+
	+
	
	-
	+
	+
	-
	+

	31.66
	2.83
	3.83
	5.66
	5.66
	0
	5.66
	2.83
	1
	3.83
	

	kHm
	kH
	kH
	kH
	kH
	kH
	kH
	kH
	kH
	kH
	kH
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